Problems for Section 7.1

In Problems 1-26, find an antiderivative.

1. f(z)=5
3. g(t) =t* +¢
5. f(z) =z*
7. g(z) = 62° + 4
9. hiy) =3 —¢°
11. f(z)=3z"+5
13. p(z) = z* — 6z + 17
15. f(z) =5z — vz
1
17. h(z) = =
19. g(z) = zia
20 f(z) =25 _ -
Tx8

23. g(t) = =3

25. g(t) =54 cost

In Problems 27-32, find an antiderivative F'(z) with F'(z) =
f(z) and F(0) = 0. Is there only one possible solution?

27. f(z) =3
29. f(z) =2+ 4z +5z°
31. f(z) ==

Find the indefinite integrals in Problems 33-62.

33. / (5¢ + 7) dz

35. / 6z° dx

37. /(:1: +1)%dz

39. /(t"’ +5t+1)dt
41. / (t® + 6t%) dt
43, /Bﬁdw

45.

47, /(m-’r %) dz
49, /(em +5) dz

51. / e dr
53. /sintdt

55. / 100e*® de
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57. /(3 cos & —7sinz) de

For Problems 63-66, find an antiderivative F(x) with
F'(z) = f(x)and F(0) = 5.

65. f(x) = 8sin(2z)
For Problems 63-66, find an antiderivative F'(z) with
F'(z) = f(z) and F(0) = 5.

67. A firm’s marginal cost function is MC = 3¢° 4 4¢ + 6.
Find the total cost function if the fixed costs are 200.
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5z

t3/3 +t2/2

z®/5

3z4/2 + 4z

y® —yt/4

z® + 5

(z3/3) — 322 + 17z
522/2 — 22%/2/3

In |2}

—1/222
F(z)=a"/T4+x75%/35+C
_e—3t/3

G(t) =5t +sint + C
F(z) = 3z

(only possibility)

F(z) = 2z + 222 + (5/3)z
(only possibility)

F(z) = (2/3)z>/?
(only possibility)
(5/2)z% + [z + C
223 + C
(z+1)3/3+C

t3/3 +5t2/2 4t +C
tt/4 +2t° 4 C
2w?? 4+ C

3lnit| + % +C

22/2 + 2% 4 C

e® + 5z + C
eT/3+C

—cost+C

25e%® + C
3sinz + Tcosz + C
isin(z® +4)+C

10z — 4 cos(2z) + C
F(z) =3z2 -5z +5
F(x) = —4cos(2z) + 9

q3+2¢12 4+ 6q + 200



